Haridwar - ID Card			Libra Clips		Vanguard		Ruby Print			
Sr. No	ltem	иом	Qty	RATE	AMOUNT INR)	RATE	AMOUNT INR)	RATE	AMOUNT INR)	Remarks
1	ID card- size 54 x 86mm printed with rTgur design text, logo, photo and variable data On the front & back. Thickness (750 Mic) With bar code and Hi co Magnetic Strip to be encoded on the reverse	Nos	178.00	36	6408	43.00	7654	60.00	10680	As Per rate
2	Cropping Photo Charges	Nos	178.00	15.00	2670	12.00	2136	0.00	0.00	Comparative
		Basic Amo	unt		9078		9790		10680	
		GST Amount : 18%			1634.04		1762.2		1922.4	
		Sub Total Amount			10712.04		11552.2		12602	

LIBRA CLIPS & ALLIED ENTERPRISES

Unit No:5, Mistry Industrial Complex Cross Road "A", M I D C, Andheri (East) Mumbai 400093 State: 27 - Maharashtra

Phone No: 26875912/84 Email id: libraclips@rediffmail.com/accounts@libraclips.com
GSTIN No: 27ABGPC3799P1ZY

PAN No: ABGPC3799P

PROFORMA INVOICE

TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED 83, Gate no. 3C, N.S.C.B.

INTERNATIONAL AIRPORT VIP RD, Kazi Nazrul Islam Sarani,

Dum Dum, Kolkata, West Bengal, 700052

Received/Stamp:

Invoice No

Invoice Dt

11.09.2023

Authorised Signatory

Challan No Buyer's Order No Order Date

Terms Of Payment :Advance payment

GSTIN: 19AAECT8193L1ZJ

STIN: 19AAECT8193L12J							
AN NO: AAECT8193L	Colour	HSN/ACS	Qty	Tax	Rate	Per	Amount
Description of Goods CARDS 54X86 (750MIC) ROPPING PHOTO COURIER CHARGES EXTRA	Colour	3920 3701	92 92	18% 18%	36.00 15.00	NOS NOS	3312.00 1380.00
ta ta							4692.00
		Total	184			IGST18%	844.50
A/c No.: 0543 232 0004461 IFSC Code: HDFC0000543 Branch name: AHURA CENTER AND Bank Name: HDFC BANK			YCE ONLY			ROUND OF	0.44
IGST: EIGHT HUNDRED FORTY FOU	R AND FI	FTY SIX PA	ISE UNLT	GRAND TO	TAL		5537.0
RUPEES: FIVE THOUSAND FIVE HUNDRED &	Taxable	CG	ST	SGST		IGST	
HSN / ACS	Value	Rate	Amount	Rate	Amoun		
3920 3701	3312.00 1380.00					18% 18%	596.1 248.4
TOTAL	4692.00	-	0.00		0.00		844.5
I/We hereby certify that my / our Registration certification certificati	ficate under	The GST Act 2017 in this bill		LI	BRA CL	IPS & AL	LIED EN
/ cash Memorandum is made by me /us and that the / cash memorandum has been effected by my / us	w transection	n of sale covered	our business.		P	Mar.	

E.&O.E



365, Opp. Thakurdwar Post Office, J. S. S. Road, Mumbai - 400 002 Tel.: 2201 6189 , 2209 3322 ● Fax: 2203 7415 ● E-mail: vancard@vsnl.com

Date: 27.04.2022

To, Travel Food Services Pvt. Ltd. Shiv Sagar Estate, A Block, 1st Floor, Dr. Anni Besant Road, Worli, Mumbai 400 018

Sub.: P.I. FOR PRINTING I.CARDS

Dear Sir,

SNo.	Description	Rate	Qty	Amount
1.	Supplying Four Layer High Tensile Tamper Proof Laminated DUAL THICK Cards with High Bonding Lamination, Photo +Variable Data Printing, HICO Magnetic Tape Embedding + Programming with High Gloss Finish Lamination.	Rs. 43 / -	40 Nos.	Rs. 1,720/-
2.	Photo Processing & Re-Sizing	Rs. 12/-	40 Nos.	Rs. 480/-
3.	Smart Card Embedding Charges	Rs. 150/-	40 Nos.	Rs. 6,000/-
4.	Processing Charges			Rs. 3,500/-
	Total Amount			Rs. 11,700/-
	18% IGST			Rs. 2,106/-
	Grand Amount			Rs. 13,806/-

We assure you of our best services and prompt attention at all times. Please feel free to contact us for any queries or clarifications.

Thanking you.

Yours faithfully

 $\quad \text{for Vanguard} \quad$

Sameer A. Sanghavi





QUOTATION

RPNP/2022-23/008 Date :- 05th April 2022

To.

Travel food services PVT LTD, Contact: +91 8879660007

Email: santosh.sawant@kapcocatering.com

Kind Attn: Mr. Santosh Sawant,

Dear Sir,

We would like to submit our quotation as under:

Sr. No.	Description	Qty	Rate Per Nos. (INR)
01	REGULAR STAFF ID CARD Size :ATM Card Size, , Front & Back Multi Color Printing Designing & Editing of ID CARD, Photo Cropping, Soft Copy of Proofing.)	550	60.00

Note: Our GST No. 27AASFR9932J1ZB & HSN Code for HSN Code for ID Card 3926.

TERMS & CONDITIONS

Payment : 100% Advance Payment.
 Taxes : 18% GST extra as applicable.
 Delivery : Delivery charges Extra as Applicable.

4. Note : (+/-) 5% Color & Quantity variation should be accepted by customer.

: Please proof-check all artworks thoroughly before giving approvals for printing. : Ruby Print is not responsible for any text/copy corrections overlooked and printed.